HiER

#1808 682580K)

NRAS—Rn

1F DTam—IL 4F KRHE 8F 820fEZ 5F 520is= 10F 10601070
o0 { |\ e
9009710 BHERDEE
9.‘10—9:/;’_‘?5 §Emgﬁﬂu1 9:10-10:10 9:10-10:00 9:10-10:00
-] | 3], ° E
s ER i1 SIHFH IHE TEAR. FHER - HHEIRE
B14-8 C1-1~7 D1-1~7
10:00|°*7* 35 mim 11 (8515 %] (& 2 [0 —t]
ﬁgﬁgﬁwg%g)lﬁ;ﬁ 10:00-10:50 10:00-10:45 .
S1-15 10:10-10:55 s EZIUVT EiE.
] & i fAM2 PEEK cage C1-8~14 e
S1-1~5 B1-9~14 (85K EA] D1-8~13 Bkt &z
(& & =7 i (5 BA
11:00 L ——————_—————————— e
11:00-11:50
BAEEARER30EERAICE
[BEERNBNEEDEHH]
W 3 TEL IR
(15 BE A 254
2ol 1
12:00-13:00 12:00-13:00 12:00-13:00
SYFave=r—1 SFavE=Fr-—-2 SFavE=Fr-3
_ KEF EEUO S 5 BB o
[k 1E—] 1% 3] [TEdt B3]
g7 LTvo st TP AP~ T ) O —)
13:00 e B e
13:10-14:25 " 13:10-13:45 & ./ 13:10-13:55 13:10-13:55
YIRIIL2 {;ﬁ‘gﬁ?%{ﬁﬂisﬁﬁgg;}jm M ERRmEEE1
TEHOPLLOSVR A B1-15~19 (8 2] BEHEREE AVF. {ti
ool S2-48E1-2 YT C1-15~20 I8 53] D1-14~19 [&# #nl
— i Trbgg_s_'ef;on Kim Eﬁm% 13:55-14:30 13:55-14:40 9:10-19:00
> - B1-20~24 (=7 Bl B2 MRIWRIES EHEE1 WS IRATY—R’T
[=R)1| 3% Tl ) C1-21~25 k% Ex D1-20~25
— 14:25-15:15 14:25-15:00 [te@E 7]
OPLLA1 EFFtyyari 14:35-15:10 ” VIRTET
15:00 A1-6~12 V1-1~5 [EE =] B3 REFEaEM | e
- (K& IlE—) C1-26~30 [t %3 D1-26~30 [F% ~=]
15:05-15:55
15:20-16:50 Eﬁﬁﬁ' :l)‘ 5'“47Jl|l
N FHESatE B1-25~30
_ BREARYVYRIDL 1Py BR8]
16:00 BEEEAOE [
YERIEEE we s
BEIFHESR
_ BH RS AR S
W =R SR AT A5
Ui R b ]
ool 1
17:00-18: 0{)‘ . 17:00-18:00
1T=VIESF—1 | 4o=ysezF—2
e I s
| e VYT
SRS TR Y (s —All
FEI-VVER - Iv)V T LTV
1800 wuvrvsmxsm | T f
18:00-18:30
HERe
%00y ‘|
( BPL  w0:10:15~21:15 2 KAWL+ T3S )
1 1 1 1




